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Pricing decision involves various aspects under various situaticns.
In the context of this statement discuss the role of marginal costing
under various situations.
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Mega Cycles Ltd. Purchases 20,000 bells per annum from an

outside supplier at Rs.5 each. y )

The management feelss that these be marnufacrure.,'aid 15

purchased. The following relevant information are aj;axiagi%_ ‘_

Material Cost per unit Rs2  Labour Cost per unit Rs.1

Variable Overheads per bell 100% of Labour Cost

Fixed Cost per bell Rs.1

You are required advise whether. . L

(a) The company should continue tc purchase the beds It
the outside supplier of should make them in the factory, 2n

(b) The company should accept and order to supply 3.000 =
to the market at a selling price of Rs. 4 50 rer unit _
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What is meant by zero-base Budgeting? Discuss its advantzzzs

and limitation. o
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A manufacturing concern which has adopted standard cosrin
furnishes the following information standard.

Material for 80 K.g Finished products 11 5,
Price of Materials Rs.120 Per K 3
Actual: )
Output 2.40.000% 3
Material Used 3.15.000K 3
Cost of Materials Rs. 3.46.300
Calculate: (1) Material Usage Variance(2) Materia! Price

Variance(3) Material Cost Variance.
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10.

- The success of failure

price policy. Explain the f a business depends upon its product
gﬁsxdered while fomulating a product price poli
SR 450 . ¥ T I 53 e lmﬁ'n&amm

el T R % 39 W 10% @z 23 & v 1 39 o 0 25%

T € €1 SR 1 Sifen e 9 g
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What H 1 3 87 30 TR SR e @ el
is meant by Cost Control? Discuss its process and techniques.
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A manufacturers requiremen for a raw material is 8,000 units per
year. The ordering cost is Rs.10 per order. while the carrying cost is
10% per year per unit of average inventory. For orders for less than
4 000 units, there is no the disc ount on the purchase price of Rs. 1
per unit but a discount of 5% is available. if an order for 4,000 units
is placed and a discount of 10% for one single order of 8,000 units.
which of three ways of purchase should the manufacturer adopt ?
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What is meant by Target Costing? Discuss its characteristics and

. advantages.
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Pratibha Ltd. manufacturers two product A and B Product A is
produced in two runs of 500 units and product Bin five independent

€ statement and state the factors to be -

WOD QUITUOAARD MMM //:d)y



WOD UIUOAARDP MMM //:d)Y

product A and 1,000 units of product B will be as wnler.

runs of 200 units. Each :  duct consumes equal direct matexia

- and direct labour ccmtpm I'e manufacturing overheads amoun;

to Rs 28,000 which comyprises of line set-up costs Rs. 14.000 product

‘inspection costs Rs.7.000 and Rs. 7,000 for material movement to

the product line. Total costs lncun'ed for producing 1.000 units !

. Rs.
Dnrect Material =, | 20.000
Direct Labour o . : 4,000
Manufacturing t.).erheads : 28,000

' 52,000

Calculate prodeu wise cost under Traditional Costing as well as
under Activity-Based Costing.
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